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. Consider the following :
1. Examining bills referred by the Speaker or

Chairman.

2. Reviewing annual reports of Ministries or
Departments.

3. Considering matters of day-to-day
administration

4. Considering long-term policy documents
Which of the above are functions of the
Department- related Standing Committees ?

(@ land2only (b) 1,2 and 4 only

(¢ 2and 3 only (d) 1, 3 and 4 only

. Consider the following statements :

1. India has set a target to eliminate
tuberculosis (TB) earlier than the global
target set by the United Nations.

2. BPalLM (Bedaquiline (B), Pretomanid (Pa)
and Linezolid (L)) regimen is primarily
designed to treat extrapulmonary TB.

Which of the statement(s) given above is/are

correct?

(@ 1 only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

. With reference to Sakhi Niwas scheme, which of
the following statement(s) is/are correct?

1. It aims to promote availability of safe and
conveniently located accommodation for
working women in urban, semi- urban, and
rural areas.

2. The maximum gross income limit for
working women to avail hostel facilities in
metropolitan cities is 50,000 per month.

3. Health insurance is included in the scheme
for the children of residents.

Select the correct answer using the codes given

below :

(@ 1and 2 only

() 1and 3 only

(b) 1 only
(d) 2 only

. Consider the following statements :

1. The government can request reconsideration
and is not bound to accept a Collegium
recommendation, even if reiterated.

2. The Chief Justice of a High Court cannot
make decisions on judicial appointments
alone.

1. 9 R AR av—
1. 3FTeT T FUUFT §RT AeHd faggdl & ST & |
2. FATerat At faurt & aiffes Rard &7 et o |
3. feF—vfafes & uomed @ aMell R R d=e
4. SEPTfTd Uiferdl S¥ardell WR faaR &=
SRRD § I P-4 rT—efRra wom) afafeat & ot
&?
(a) ®act 1 R 2 (b) daaT 1, 2 AR 4
(c) DIt 2 3R 3 (d) daaT 1, 3 3R 4

2. f=faRad wodl W) faarR ax-
1. 9Rd 9 9g® I gRT iRy dRes e | uge
aufesd () BT TH B FT AL @M T |
2. BPalLM (Bedaquiline (B), Pretomanid (Pa)
and Linezolid (L)) 3ER WW@WW
S & garet & forg 9T T B |
TR U T HoHl § F B G1/9 TE 2/ 8?
(a) daet 1 (b) HIA 2
() 13R2THEl (d) Fdr13RTE2

3. 9 e aer @ ey #, fam=felRad § & & a1/
| HUF TS B8
1. 3BT I BN, ef-wEdl iR ymr e H

BHBII Ars & fory YRIEM iR Jfaereie
AT BT SUALIAT BT g@ral o7 2 |
2. FEFTRII YER] H HHGbo At @ fory s
gfawnsii &1 @™ So™ & forg ifedd Adhd 3y
AT 50,000 UfT AE B
3. FaRel & sl & fory arey dHr Ao # wfie 2
I g T Hle BT ITANT RS FEl IR Fri—
(a) ®aeT 1 3R 2 (b) Ba 1
(c) daet 1 3R 3 (d) daa 2

4. fr=ferRad dFl R AR Hv—
1. WPR YAAIR BT FRE &R FHdl © 3R
Bictford B REIRY @I qEv™ W) A 9 [HR

A D forg g L B

2. 9 WG B Y SRR dd =
frgfpal ox o €l of wrebar |
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Which of the statement(s) given above is/are
correct ?

(@) 1 only (b) 2 only

(c) Both 1and 2 (d) Neither 1 nor 2

. Consider the following statements :

1. The navies of India and South Africa
have signed an agreement to enhance
cooperation in submarine rescue.

2. The Deep Submergence Rescue Vehicle
(DSRV) is a specialized vehicle capable of
rescuing submarine crew members from
depths of up to 650 meters.

Which of the statement(s) given above is/are

correct ?

(@ 1 only (b) 2 only

() Both 1and 2 (d) Neither 1 nor 2

. Consider the following staternants about

Semiconductors :

1. Itis an integrated circuits that are made from
pure elements, typically silicon or carmianium
or compounds such as gallum arsenide

2. At zara Kelvin, a samiconductor serves as
an insulator.

3. They are an essential component of
electronic devices, enabling advances in
communications, computing, healthcare
and military systems.

How many of the statements given above are

correct ?

(a) Only one

(c) All three

(b) Only two
(d) None of the above

. Consider the following statements :

1. Reduced sea ice in the central Arctic leads
to less rainfall in western and peninsular
India but increases rain in central and
northern India.

2. The Circumglobal Teleconnection (CGT)
is an atmospheric pattern observed in the
Southern Hemisphere particularly during
the summer months.

Which of the statement(s) given above is/are

correct?

(@) 1 only (b) 2 only

(c) Both 1and 2 (d) Neither 1 nor 2

. Consider the following statements about Swiss

Peace Summit,

1. It aims to strengthen bilateral relations
between Switzerland and other countries.

2. Environmental protection, human rights,
and disarmament are the three main focus
areas of the Summit.

Which of the statement(s) given above is/are

correct?

(@ 1 only (b) 2 only

() Both 1and 2 (d) Neither 1 nor 2

IR QU T Pl § | B9 A1/ T8 B /8
(a) daet 1 (b) I 2
() 13R2THEl (d) Fdr13RTE2

. fr=feaRad ol R faaR &

1. 9RA AR SRI0T ABIBT DI AR 7 UTged! qerd
H HEANT 9o & oy U FHsid R ERIeR by
g |

2. SU FIHOE R FIhd (SITHRIRAN) & ey
I8 & Sl Uge! AP Gl B AWl Pl 650 HIeX
DI TERIE TP FaA H FeTH T |

TR feU T oAl § F BT A1/q TE 2/ 8?

(a) ®aet 1 (b) I 2

() 13R2THEl (d) Fdr13RTE2

. SEfaTadl & IR F fAEfIRad weHl R AR ev—

1. U8 U Usipd Afbe & Sl Yg dwl, AR W
faferp a1 Hfarftam o fom RiARS o
APl | 997 BT B |

2. ORI dfedd #, toh dHidSIeR Th ggeicy & WU
H PRI BRaT B

3. d SAdSlfId SUBRU BT Uh Afarf "ed 8, S
AR, SRS, WR GITe AR T Jomferdr #
WY BT HeW 991 & |

W QU U FHoAl § ¥ fha w@gr 27
(a) ®acT TH (b) ®aet ar
(c) <t (d) STRRH § & BIg TEl

. fF=foRad woAl R faar w—

1. W Adfed H S 9% HH BW 9 Ul &R
YRIEN IRd H§ HH auf 8l ® offdd #eg iR
ST IRA # q9f g 9 2|

2. FHHAES Collbaed  (AISC)) Teh drgHsdrd
fed & o foy w9 & I & 7€M & SR
gferoft wiremet # <@ ST 2

TR U T oAl § F BT A1/W TE 2/ 8?

(a) daet 1 (b) I 2

(€) 13R2THl (d)Tdr13RATE2

. Rag wifa frer 9=ew & IR & fA=foRad ol &)

famR ax—
1. 3A®T I R 3R 39 <@l & d19 fguelg
JHaet BT AT BT T |

2. TOERY] EREV, AFAHR iR fReEfave RRaR
TR & O I BIed &7 2

IR AU 7T oAl § | BE A1/ A8 2 /87

(a) ®aet 1 (b) DI 2

() 13R 2 Al (d) Fdar13RAE2

29, Kailash Vihar, Behind St. Conrad's Inter College, Khandari, Agra (UP) PH. 9720999654, 9219631474

www.centreforambition.com : O t.me/centreforambitionias



Weekly Test Current Affairs|3

10.

11.

12

13.

. With reference to the Quadrilateral Security

Dialogue (QUAD), which of the following

statements are correct?

1. It conducts joint military exercises known
as Malabar.

2. Its secretariat is located in Tokyo.

3. It focuses on areas like Artificial
Intelligence (Al), quantum computing, and
biotechnology.

Select the correct answer using the codes given
below :

(@) 1 and 2 only
() 1 and 3 only

(b) 2 and 3 only
(d 1,2and3

Consider the following statements :

1. Tiger reserves are notified by the state
governments on the advice of the National
Tiger Conservation Authority (NTCA).

2. Human habitation and activities like
hunting and collecting forest produce are
prohibited in the core zone of the tiger
reserve.

3. The NTCA was established in accordance
with the Forest Conservation Act, 1980.
How many of the statements given above are

correct ?

(a) Only one

(c) All three

(b) Only two
(d) None

Consider the following statements :

1. The Indian Ocean has oceanic tunnels
connecting it to the Pacific Ocean and the
Southern Ocean.

2. During the pre-monsoon season, the Arabian
Sea gets warmer than the Bay of Bengal.

3. Vertical wind shear removes energy from
developing cyclones.

How many of the statements given above are

correct?

(a) Only one

(c) All three

(b) Only two
(d) None

Which of the following statement(s)

correct Critical Mineral Mission,

1. The mission aims to enhance exploration and
mining activities within India to increase the
domestic output of critical minerals.

2. Under the mission, India seeks to establish
long-term supply contracts with South-East
Asian countries.

Select the correct answer using the codes given

below :

(@) 1 only

(c) Both 1 and 2

is/are

(b) 2 only
(d) Neither 1 nor 2

Consider the following statements about Loss

and Damage Fund (LDF) :

1. The fund aims to address both immediate
disaster response and long-term resilience
building.

2. It provides compensation for past and
ongoing climate impacts.

10.

11.

12.

13.

. IS GReT "are (QUAD) & weH ¥, feaforRad # <

DI A HAT el 87

1. I GgH A AT MR T & o Aretar
P A ST ST 2
$dT Afedrerd <R § Red 2|
JE AfEMPRRE o (Tars), @dicn et
IR Sg WEnfira o e R Bfed B

A f3T T Ple BT ITANT HRS el IR Fri—

(a) ®act 1 R 2 (b) daa 2 3R 3

(c) daet 1 3R 3 (d) 1, 2 3R 3

frfaRad deMl W™ fIaR H-
IMSET 9T ARETOT UTfEdRoT (TACRIY) &1 Aellg R
Y WRGRI §RT 919 SMIRVAT BT AfSRIfd foba
ST

2. TR REd & &R O § AM9 a9 @ik RiaR
IR a9 SUS Udh Hx ol afafert g 21

3. TACKAIU &) RAUAT 99 G0 IifSfaH, 1980 &
AR BT T3 o1 |

IR QU 1T FoAl # | fhaw wgr &7

(a) ®act TH (b) Haet &I

(c) o=t (d) P1g el

fFfaRad doml R fdaR av—

1. &g AEMIMR # W<l G0 € Sl 59 URId HeRIR
iR =froly FerR | sl & |

2. H—AFYA A9 & SR, 3RT AR S DI ATS]
@Y T H A TH BT I 2

3. FHIRR Y fawradier agmardl 3 SHofl Bf geT ol B

IR QU U FHoEl § ¥ fhas W 87
(a) DI TH (b) aal &I
(c) Tt d) H1g Tl

fr=feriRad & & @4 91 doA fhfieha fmra fawm, &

IR H T B

1. "M BT Sewd AeAQUl WSl & BRe IET Bl
M @ forg 9RA & WiaR S=mvr 3R w9 Ifa.
faferl 1 9T B |

2. fie @& dga, wRa <feo—gqd (RrE <e @ e
dreiarfere Jmaft srder wnfud wRAT arEdr B |

I AU U B &1 ITIRT TR Fel SR Fri—

(a) daal 1 (b) Haet 2

() 1R 2 Al (d) Fdar13RAE2

g1 3R arfar A (Torsiuw) @& IR # fferRaa wemt

R AR a—

1. S B &g debldd 3MUar ufafhar ik earfors
A AT ST BT AR BT B

2. I8 fUod &R = 2 STddrg wamEl & forg garast
TS R |
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14.

15.

16.

17.

3. Carbon credits from the global carbon
market is one of the proposed sources of
financing for the LDF.

4. The United Nations Development
Programme (UNDP) is currently serving as
the interim trustee of the Fund.

Which of the statements given above are correct?

() land2only (b) 1,2 and 3 only

() 2,3 and 4 only (d) 3 und 4 uniy

Consider the following statements about

National Food Security Act (NFSA) 2013,

1. The primary difference between Priority
Households (PHH) and Antyodaya Anna
Yojana (AAY) households under the NFSA
is that PHH receive more food grains than
AAY households.

2. NITI Aayog is responsible for determining
the state-wise coverage of beneficiaries
under the NFSA.

Which of the statement(s) given above is/are correct?

(@) 1 only (b) 2 only

(c) Both 1and 2 (d) Neither 1 nor 2

Consider the following statements :

1. India-Singapore Strategic Dialogue
Framework facilitates regular high-level
dialogue between India and Singapore on
various sectors.

2. The Prime Minister of India recently
interacted with participants of the India
Ready Talent Programme, which prepares
young Singaporeans to explore business
opportunities in India.

Which of the statement(s) given above is/are

correct?

(@) 1 only

() Both 1 and 2

(b) 2 only
(d) Neither 1 nor

Consider the following statements :

1. Brunei is one of the leading exporters of
liquefied natural gas (LNG).

2. The United States is Brunei's
trading partner and investor.

3. India has shifted its oil imports from Brunei
to Russia in recent years.

Which of the statement(s) given above is/are

correct ?

(@) 1 only

() 2 and 3 only

largest

(b) 1 and 2 only
(d) 1 and 3 only

Consider the following statements about the

Public Accounts Committee (PAC) :

1. It is composed of 15 members from Lok
Sabha and 7 from Rajya Sabha.

2. It reviews the performance of regulatory
bodies established by Acts of Parliament.

3. Ministers can be members of PAC.

How many of the statements given above are

correct?

(a) Only one

(c) All three

(b) Only two
(d) None

14.

15.

16.

17.

3. IRG®d FHEF IR | HEA Hfee TaeN® & forw
oo & TRaTfad Wl § W P 2|

4. TEEE H GYH g [ BRIGH UAS) DIy
® IARA T B HU H HRRG T |

SR &y T FHoEl # | D9 A1 FB 8?

(a) ®aet 1 3R 2 (b) aat 1,2 3R 3

(c) @I 2, 3 3R 4 (d) 3 3R 4

R @Ter JReT A (NFSA) 2013 & 9 H

forRaa oMl R IR &v—

1. UAUHUHY & ded WRIfiedr arel aRart (dioeea)
IR TG = AT (TUars) drel uRari & d1=
e iR g B % fivava or vgarg gRart &f
o ¥ a1 wrenr= e 2 |

2. T AT THUHTHY & dgd il & Jsa—dR
BHANST BT ERT B B o IR 2|

IR AU 7T FHoHl § | BE A/ A8 2 /87

(a) ®aet 1 (b) DI 2

() 13R 2 Al (d) Fdr13RAE2

frrforRad ®eml R AR w—

1. IRA—REMR I0FIfe dare efn A= &3
IR IR REMR & 49 Frafa S=a w¥ 9ada
@1 AT g&H HRaT T |

2. 9Rd P WEME HA 4 B € # sfedr XS Sefe
AT & gfowiiiEl & W arEd @, S g
RETTQRATRIAT BT WRA H AR & 3faER TARN b
forg TR @ar 2 |

IR feU T HoHl § F B Ar/W TE 2/ 8?

(a) daet 1 (b) DI 2
(€ 13R2THAI (d)adr13RATH
frfaRaa wemi R faarR av—

1. gris dRelipd WHfae I (TAASl) & 9
frafael 5 4 @ 2|

2. WYH AT FARBI g BN GIH q8I ATUNRS
MRfER &R e 2

3. ARA B & qul H YU el JMAT DI gls I o
¥ RIAART PR e 21

TR feU T oAl § ¥ B A1/W T 2/ 8?

(a) daet 1 (b) @aal 1 3MR 2

(c) daat 2 3R 3 (d) daaT 1 3R 3

Arp orar affy (o) & aR § fEfoiad weHl w®

faaR -

1. 398 AIPIHT B 15 3R ST & 7 TS B © |

2. I8 §9q & Il g1 wnfd e et
P Y BT AHIET HRaT B |

3. 7 9ot @ AS ' 9ahd e

IR QU U FHol § ¥ fhas v 87
(a) ®act TH (b) aal &I
(c) < ((d) g el

29, Kailash Vihar, Behind St. Conrad's Inter College, Khandari, Agra (UP) PH. 9720999654, 9219631474

www.centreforambition.com : O t.me/centreforambitionias



Weekly Test Current Affairs|5

18.

19.

20.

21.

Consider the following statements :

Statement-I : Globally, there has been a decline

in labour income.

Statement-II Many young people are not

working, studying, or receiving training.

Statement-III : Businesses across the globe are

implementing automation technologies and

artificial intelligence (Al) systems into their
operations and processes.

Which one of the following is correct in respect

of the above statements?

(a) Both  Statement-II and Statement-III
are correct and both of them explain
Statement-1

(b) Both Statement-II and Statement-III are
correct, but only one of them explains
Statement-I

(c) Only one of the Statements II and III is
correct and that explains Statement-I

(d) Neither Statement-II nor Statement-III is
correct

Consider the following statements about Plastic

Pollution in the world :

1. India is the World's second largest
generator of plastic pollution after China.

2. Global South emits way more plastic waste
emissions than Global North.

Which of the statements above is/are correct?

(@) 1 only (b) 2 only

(c) Both1and?2 (d) Neither 1 nor 2

Consider the following statements about Smart

Cities Mission,

1. Cities are selected for the Smart Cities Mission
through a two-stage competitive process known
as the "Smart Cities Challenge".

2. Area-Based Development (ABD) in the
Smart Cities. Mission focuses on rural
areas outside the city limits.

Which of the statement(s) given above is/are

correct?

(@) 1 only

() Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

Consider the following statements :

1. Great Nicobar is a biodiversity hotspot with
indigenous communities and is located in a
seismically active region.

2. The Andaman and Nicobar Islands Integrated

Development Corporation (ANIIDCO) is a
quasi-government agency responsible for
trading, managing tourism resorts, and

developing infrastructure on the island.
Which of the statement(s) given above is/are
correct?
(@) 1 only
(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

18.

19.

20.

21.

frfaRaa wemi W AR ax—

B fIed WR W, 319 37 # fRae ang 2 |

FHAT-I1 F3 Jal H 8] B I8 8, UGS T8l e 3T B

a7 frerr ur TE AR I B |

PHAA—111 AT R & FIATI AU FaTeAd AR Aharail

4 wEreE dEififeal iRk Bm gigear  (Ters)

yonferat ®T AN IR B 2|

ISRIh BIAT & dae # Fr=faRed § | @9 |1 98

2?

(a) P11 3R FHUF-III SHI F&l § IR I S
BHUT-] B ARIT BRA &

(b) HAT—II IR FHUF-III AT el 8, oifdT 394 &
Hacl T & BT BT AT AT 8

(c) PUF-II 3R HAA-III # | Bact Uh & ! 8 3R
Ig A1 B AR HaAT &

(d) T AT HUA-1I IR 7 & HUA-11I T 2 |

faeg # wnfed uguur & IR # f=ferRad weAl w®

fraR ax—

1. O & 918 9RA T BT GART Fa¥ T8T IR
U I~ R aTell 9 T |

2. AN ARSY AR ARt B gord H FE Al
WRed IR IS BT & |

SWRRH § | B A BT Tl geg?

(a) ®aet 1 (b) dad 2

() 18R 2 Al (d) Fdr1 3R T &2

wrd Rd fee & IR § fEfRed ol R faeR

o

1. e RS fiem @ foru 9rexl &1 =9+ 1 =Rl arel!
yforelt ufthan & Jrew & fhar oirar @ iy w1
R dielsr’ & M & ST 97T 2

2. I WENl W gz fd@ (ABD) e wiex
B AT B GTER IO & R Diod B

TR U T oAl § BT A1/W T 2/ 8?

(a) ®aet 1 (b) DI 2

() 1 3R 2 Al ((d) Tar1aiR A2

fFraforRad oMl R AR d—

1. U FPER el FHe™l & A1 U o fafdern
BlcWic & 3R YU wu 9 A5y &F d Rerq T

2. 3eHM R FHER §U W UPIHd b
(ANIIDCO) Ush 3—IRBRI Toikdl § o g7 W
IR, Wied RACH & yaed AR e g &
farr & foru ReR g

TR U T oAl § BT A1/9 TE 2/ 8?

(a) ®aet 1 (b) DI 2

() 13R2THEl (d) Fdr13RTE2
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22,

23.

24,

25.

26.

Consider the following statements about New

Guinea island :

1. It is second largest island in the world after
Greenland.

2. It is the most populous island in the world.

3. The island is politically shared by Papua
New Guinea, Brunei, and Malaysia.

How many of the statements above are correct?

(a) Only one (b) Only two

(c) All three (d) None

Consider the following :

1. Foreign Currency Assets

2. Silver

3. Gold

4. Oil Reserves

5. Special Drawing Rights

Which of the above components is/are constituents
of Indian Foreign Exchange Reserves ?

(@) 1,2 and 3 only (b) 2,3 and 4 ority

(¢) 1.3 and Sonly (d) 2.4 and 5 only

With reference to Agni-IV Missile, which of the

following statement(s) is/are correct?

1. Itis a surface-to-surface missile.

2. It is fuelled by liquid propellant only.

3. It can deliver a one-tonne nuclear warhead
about 7500 km away

Select the correct answer using the code given below :

(@) 1 only (b) 2 and 3 only

(¢) land 3 only (d) 1,2 and 3

Consider the following statements about The

Fiscal Deficit :

1. A higher government debt can lead to a
higher fiscal deficit.

2. Increasing the tax can help in lowering the
fiscal deficit.

3. Increasing public spending can lower the
fiscal deficit.

Which of the statements given above is/are

correct?

(@) 1 and 2 only

() 2 and 3 only

(b) 1 and 3 only
(d) 1,2, and 3

Which of the following statements best reflects

the meaning of the term 'Vertical Fiscal

Imbalance (VFI)?

(@) A mismatch between federal and state
legislative powers.

(b) An issue related to the allocation of
resources for centrally sponsored schemes.

() A situation where state expenditures
exceed their own revenue receipts and
depend heavily on transfers from the Union
government.

(d) An imbalance in revenue
among different states.

distribution

22, = il g & IR § FrEfaRed dedl R TR -

23.

24.

25.

26.

1. I8 dicle & 918 g1 &1 SORT 9ad 997 g9 ¢ |
2. I8 3T &1 wa e e arer €19 2 |
3. Ig gIU qerifae WU ¥ urgen = e, gus e

AR gRT A1ST fHaT ST 2 |
SR H ¥ fhds HU7 de1 87
(a) ®ac TH (b) aal &I
(c) o=t (d) P1g el
1 W farR -
1. fac=h ga1 uReufrt
2. dfdl
3. A
4. qd WSR
5. faoIy ameExor SIfHR
IWH Tehl H A DA A1 /H IR A<= a1 deR
BT UCH /8?7
(a) DI 1,2 3R 3
(b) 2,3 3R 4
(c) a1, 3 3R 5
(d) Dad 24 3R 5
A1V s & wed #, fm=faRed & & &4 @1/
I HUH 8 B /8

1. Jg Ide I Idg W TR B el g g1

2. 39 Had oxdl UUed gRT so4 far ST 2 |

3. F& PG 7500 fdbHl R TP TP T Pl WA
SRRIR Ugar |l §

I g T Hle BT ITANT RS Fal IR Fri—

(a) ®aet 1 (b) @aa 2 3R 3

(c) @ael 1 3R 3 (d) 1,2 3R 3

fr=faRad deFl W™ fIaR & IS =rer

1. Afp TRGNT 0T A ISDIE HeT ¢ Thal ¢ |
2. T 92 I BN =l HH d) H Acq

NEZURL

3. Aoi-h T 9 I IS =1eT 6 8T HdbdT § |
TR feU 7T oAl § W B Il 9E 2/ 8?

(a) ®act 1 R 2 (b) daaT 1 AR 3

(c) dad 2 3R 3 (d) 1, 2, 3R 3

frfaRaa # | @19 A1 H2F (Vertical Fiscal Imbal-

ance) ¥ & 31 B AIH W] TRE qwiar 27

(a) HE iR ou faemh wfiedl @ 9 UF 99 |

(b) ®g UTARTG AroRl & fory HawREl @ smded |
Hferd g HRT |

(c) Y Rfy T8l I5g &1 =g SHBI YU+ o4
Wil & 31fdd 81 3R g AR H TR0 )
Igd s R 2|

(d) faf=T Il & &= TR faaRer H e |
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27. The Common Security and Defence Policy

28.

29.

30.

(CSDP) was seen in the news recently, is

associated with :

(a) The economic integration of Association of
Southeast Asian Nations (ASEAN) member

states.

(b) The military alliance between North
Atlantic Treaty Organizationu (NATO)
countries.

(c) The collective security framework of the
African Union (AU).

(d) The European Union (EU) approach
to international security and crisis
management.

Which one of the following bodies is

responsible for conducting the National Exit
Test (NEXT) ?

(a) Medical Council of India

(b) National Medical Commission

(c) All India Institute of Medical Sciences

(d) Central Board of Secondary Education

Who among the following presents the National
Teachers Award ?

(a) The Prime Minister of India

(b) The President of India

() The Minister of Education

(d) The Chief Justice of India

Jal Sanchay Jan Bhagidari, sometimes seen in

the news recently, is associated with?

(a) Financial assistance provided for the lake
and pond rejuvenation projects.

(b) Aquifer management plan for tier-1 and
tier-2 cities.

(c) Construction of rainwater harvesting
structures.
(d) Promotion to improve the water use
efficiency across various sectors.
Qd

27.

28.

29.

30.

AART GRe iR e N (Ngwsnd) @ g & A

WAERI # <@ 147 o, I8 fhew 6efda g

(a) Tféror gd TRRTS I HY () @ e Qe
BT 3B YpTHRT |

(b) ST Ircdifed A HWred (Are) < & 9= I
TS |

(c) IBID! HE (TY) BT AMfeDd FreTl S|

(d) TR FReTT 3R Hehe Uaed & foly R e
£9) @1 gfedin|

fr=faRed & 9 a9 91 e e tfivie e
() AT &7 & forg R=ER 27

(a) Afsda HRRTa 3w gfean

(b) IR fafdrear SmIT

(c) 3Rge AR IMYfA= FRAT

(d) D Aregfis Rer 9

frafoRad 4 @ o9 I Rgd R Te™ -l
27

(a) ART & "aE HAT

(b) RA & ITeUfy

(c) TRrem ==

(d) IRT & J&I <RI

g B H - TRl § < 9 drell o S9d

o Arfier faa wwfeg 272

(a) et IR ATeE FHAThed aRASHRT & fory i
HEIAT J&TH Bl TS |

(b) feaR—1 3R fear—2 ol & fou Sod wde
AT |

(c) 8T STt Hag RIS BT AT |

(d) =T &= 4 S SUAET q&ar H guR & forg
AIATE |

Qad

29, Kailash Vihar, Behind St. Conrad's Inter College, Khandari, Agra (UP) PH. 9720999654, 9219631474

www.centreforambition.com : Q t.me/centreforambitionias



Time : 11 : 00 A.M. to 02:00 P.M. ITW-173 } z M.M. : 60
CENTRE 5 INDIA 3z, )
N4 THIS WEEK " v
-FOR AMBITION 14/09/2024 \

AN INSTITUTE FOR CIVIL SERVICES

Curvent Affairs \

BILINGUAL
1. (b) 2. (a) 3. (a) 4. (b) 5. (¢) 6. (¢) 7. (a) 8. (d) 9. (¢) 10. (b)
11. (b) | 12. (a) | 13. (a) | 14. (d) | 15. (b) | 16. (d) | 17. (b) | 18. (b) | 19. (b) 20. (a)
21. (c) | 22. (@) | 23. (c) | 24. (a) | 25. (a) | 26. (¢) | 27. (d) | 28. (b) | 29. (b) 30. (¢)

29, Kailash Vihar, Behind St. Conrad's Inter College, Khandari, Agra (UP) PH. 9720999654, 9219631474

www.centreforambition.com : O t.me/centreforambitionias



ITW-173 EXPLANATION

CENTRE
FOR AMBITION

AN INSTITUTE FOR CIVIL SERVICES

14/09/2024

L

5 INDIA 7f

KI{THIS WEEK

Current Affairs \

1. (b)

Explanation :

2. (a)

The functions of the Department-related
Standing Committees include examining
bills referred by the Speaker or Chairman,
reviewing annual reports of Ministries or
Departments, and considering long-term
policy documents.

Considering matters of day-to-day
administration is not a function of the
Department- related Standing Committees.
They do not consider matters of day- to-
day administration of the ministries or
departments.

Explanation : Statement 1 is correct.

3. (a)

India has set a target to eliminate TB by
2025, which is five years ahead of the global
target of 2030 set by the United Nations
Sustainable Development Goals Statement
2 is incorrect.

The BPALM regimen is primarily designed
for the treatment of multidrug-resistant TB
[MDR-TB).

It has been recently approved for use in
several countries, including India. It is
a novel treatment option that includes
a combination of drugs: Bedaquiline,
Pretomanid, Linezolid, and Moxifloxacin.
This regimen is intended to be a more
effective, safer, and quicker alternative to
traditional MDR-TB treatments, reducing
the treatment duration from up to 20
months to just six months.

Explanation : Statements 1 and 2 are correct.

The Sakhi Niwas scheme aims to
provide safe and conveniently located
accommodation for working women in
urban, semi-urban, and rural areas where
employment opportunities exist.

The scheme specifies that working women
are entitled to hostel facilities if their gross
income does not exceed 50,000 per month
in metropolitan cities and 235.000 per
month in other places.

1. (b)

qrET -

2. (a)

forT—efoa wemh Al @& et § swruey
T 3EET GIRT Aol MY fRRRID D STa HRA1, FATerd
7 faur & aiffe Rure! @1 aHWer dRAr &R
<redlferd I ¥l IR faaR &=AT i § |
fA—ufafes @& wmE & "Wl R IR &-A
farmT—efeT el afafeat &1 et T8 2

g werdt a1 e & fRA-ufafes & wemE &
ATl R faaR T8 BRa B

TAT : BT 1 T8l B -

3. (a)

AR & 2025 dd &l BT GH B BT Aed
w@oE Sl Wge Wy wad e deat
g1 feiRd 2030 & AR9® e | U= ATl ST
21 P 2 Teld 2 |

BPALM RTHT & U A AecigT—RR<e el
[MDR-TB] & SUaR & foly a=m/&T 127 § |

39 B & H IRd 9k B3 < H ST & forv
SRR faar T 8 | U8 TS 41 SR fdhed ©
T ameil &1 U Ao ofie § : JsIfddansH,
Memfs, dargaoilfers 3R AT |

39 N BT ST IRIRS TASRIR—CE SUARI
@ forg arfdre wwrdt, gRfera ok o9 faweq B €,
T SUaR @) Srafy 20 HEM W HeaR % BE
HAEM Y STl 2|

ARAT : HAT 1 AR 2 & T

T e geEr BT SEY 9EN
FF—EN R UM eF  H BN
Afeeell & fofw gRfea ok gfowree wme W
JMMATT IYALT HRIT 8 &l ISHIR & 3TaR AIGLG
gl

JE Iom fAfdse wRal ® 6 dmaren Ak
BIEAER ®I JiAET B ghaR & Al ITH Aol
M FEMTRIY IERT H U "IE 50,000 3R Sy
Il TR 235,000 Ui A8 9 31fS® T8 T |
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e It is a scheme under Mission Shakti
Further the government is working on
setting up new women's hostels, known
as Nirbhaya hostels, which will provide
residential facilities and transit stays for
women attending interviews or exams
Statement 3 is incorrect. The scheme
provides daycare facilities for the children
of residents but does not indude health
Insurance.

4. (b)

Explanation : Statement 1 is incorrect.

e When the Collegium reiterates its
recommendation, the government is
generally bound to accept it. The Supreme
Court has stated that if the Collegium
reiterates a recommendation, it should
be binding on the Union government, and
the appointment should be processed and
completed within a specified timeframe.

e Statement 2 is correct. The process of
judicial appointments is not the prerogative
of a single Individual, including the Chief
Justice of a High Court. It must involve
collective consultation and deliberation by
the High Court Collegium, which includes
the Chief Justice and the two senior-most
Judges of the High Court.

- (¢)

Explanation : Statements 1 and 2 are

correct.

e The Indian and South African navies
have signed an agreement to improve
cooperation in submarine rescue
operations, ensuring mutual support and
safety for submarine crews in distress.

e Under this agreement, the Indian Navy will
provide assistance by deploying its Deep
Submergence Rescue Vehicle (DSRV) when
needed.

e The DSRV can operate at depths of up to
650 meters and is designed to rescue crew
members from disabled submarines.

- (¢)

Explanation : Semiconductors

India and Singapore intect agreements on

semiconductor and digitco technology recently

e Semiconductors, sometimes referred to as
integrated circuits (ICs) or microchips, are
made from pure elements, typically allican
or germanium or compounds such as
gallium arsenide.

e In a process called doping small amounts
of impurities are added to these pure
elerriants, causing large changes in the
conductivity of the material.

o IE A wIfh © d8d Udh JINHT B | D 3Tl
RBR Y AT BEMART RAMUT HRA TR BMH B
@ g R el sEe & w9 § S o ®,
S ATEIThR AT UieT Wi g9 dren AfRerel &
foQ arrarfiar Greemy iR URITHT ey FaT R |
HUF 3 TAd & | I Ao FaReat & g4t & forg
SHIR GG UG Bl © olfbd gaH e JrH1
NG S

4. (b)

ATEAT : BT 1 TTold 2 |

o T BiforIH AU RABIRTT TRar 8, dl WRAR
M AR W TH WHR A b U Ieg g
21 GIH PIC 7 B8l & (b R Bieiforgq el
fRABIRET @1 SERIT 8, d@ I8 &g IR & foly
TRAGRI BT =AY, iR FRIfh &1 va fde 9>
A & o Fafd iR @1 far ST =nfRy |

o P 2 | B e YRRl o ufdar e
U s & fRMReR T8l &, Rrad e <arred
& g IR ) e 2| 39 ST ST
PIARE gRT WFffdd WM iR faR—fawe
e BT ARy, orad g <Immer &k s
AT & < IRSTH TN e ¢ |

5. (¢)

ATET : BT 1 3R 2 F) T |

o YRAR AR SO IMBIDHI AR T UTge! ded
Sl H AEANT Bl 98 99 @ oI ga dHsia
R FEIER Y 8, Rrad dae d uigd! add &l
% foTg SAToRT [T SR gRer GiEd 8 6o |

« 39 9HSId @ d8d, IRA™ AT SeRd 08 W)
I 1Y FIAGE Y& @Idha (DSRV) &I oA
HRD FEIAT UGTH BT |

+ DSRV 650 HIeX &I &g TP B R Fhdl o
IR T e Uil ¥ AP T b Aal Pl
Fae & fory feorg= fovar ar 21

6. (c)

AT : JefaTel®d (Semiconductors)

IRT 3R RIgR =7 81 & # seiarasd iR f$fica!

WeNfre W aHeia fpy &

o 3D, T8 FH—F Taiga afbe (ICs) a1
ASHI & HU H HaRd AT S &, g adl,
IMAR TR Uferad a1 SHfd a1 Aoy siAss
S ARl F 9 B E

o SIftUAT A& UH UfhAT H§ 1 Yg dcdl H ATS! /AT
# argfedl Mg Sl €, o |t @) Aretear
# 98 9S9 B F |
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e They are an essential component of
electronic devices, enabling advances in
communications, computing, healthcare,
military systems, transportation, clean
energy, and countless other applications.

e Due to their role in the fabrication of
electronic devices semiconductors are an
important part of our lives imagine life
without electronic devices.

e Properties At zero Kelvin, a semiconductor
serves as an insulator and it functions as a
conductor as the temperature Increases.

e They have higher resistivity than conductors
but a lower resistivity than insulators.

e They have higher resistivity than
conductors but a lower resistivity than
insulators

e As the temperature increases the resistance
of semiconductor materials decreases, and
vice versa.

. (a)

Explanation : Statement 1 is correct.

e The reduction of sea ice in the central
Arctic is associated with increased rainfall
in central and northern India, while it
leads to decreased rainfall in western and
southern peninsular India.

e Whereas, reduced sea ice in the Barents
Kara Sea causes atmospheric disruptions
that lead to unpredictable. monsoon
behavior.

e Statement 2 is incorrect. The Circumglobal
Teleconnection (CGT) is an atmospheric
pattern observed in the Northern
Hemisphere, particularly during the
summer months.

e The CGT influences weather patterns
across the Northern Hemisphere, affecting
temperature, precipitation, and extreme
weather events.

e The CGT also interacts with the Indian
Summer Monsoon (ESMI).

e Where strong monsoon precipitation
can influence the development and
maintenance of the CGT.

. (d)

Explanation : Statements 1 and 2 are

incorrect.

e The summit's main objective is to facilitate
dialogue and negotiations aimed at ending
the angoing conflict between Russia and
Ukraine.

e The main focus areas of the summit
include nuclear safety, food security, and
humanitarian concerns related to the
conflict between Russia and Ukraine. India
has not signed the peace document from
the Summit.

7. (a)

q SoIacie SYDRU BT Th 3P Tch o, Sl
TWeg ol 3R SR 3= JAGIRART H WIRT Pl
[e R B |

golagivd SYPRO & 0T § D HBT D
HRY JFEATAH TAR Sia- & Uh Heedqul R €,
SAdSi =i SUBRON & a7 SHaT B BTl BN |
0T IR Biedd W, Uh EATAD Uh sgeley &
wY # BRI BRAT § AR AUEN 984 W I8 T
HSIeR B wU H BRI BT 2 |

PSIeR] DI AT H D! HIRIEDHAT A BIell ©
cIfheT ggeTex @ Jorl # & Rk gl 2 |
T Hedexl B o H e wfoRierddar g ®
cIfhe Sgeley @1 Joil ¥ & AfoRIerdsar g 8 4
SIRI— ATYHTE 9T 8 3feiareld gareli &l ufaxre
& BIdT ST & |

TRAT : HAT 1 GaI 2 |

8. (d)

e 3bfed H WAl 9% B P 9 IR I
IRd H i aul ¥ eI 8, Said g9y uiRaHl IR
cferof grIgrd wRa # aul § & H omE B

Safdh, SNCH BRI AFR H $F Tl 9% dIHSAN
UM BT BRY Il © Sl AR ARG
AR BT 9T I T

PHYF 2 TAd ® | AbAAGe Sefldae (CGT) Tdh
qRIHST Uest 8 Sl IR0 M 3§ <@ I E,
GRIGR THAT & AEHT @ QIR |

CGT I Tr H AH & Uesl &l gIiad dxar
2, A9, 9y iR oA ARTH @1 gl & g9Ifad
FRAT B |

CGT 9RAR MSH@STAE A9 (ESMI) & 7T 41
I HRAT & | S8l Aolgd AMgA a9 CGT &
AT 3R YERWIT BT JAIAd B Al 2 |

AT : BT 1 3N 2 Teld © |

RRaR T e 31 4 e wd 3R b & I
Tol 2 HUY B FHIW B b I F HdTg 3R
araf w1 Gferord T 2 |

ReR w=ied & = Bied &3 H WA
JReETT, e GRET IR S 3R g & dr g ey A
Hefrd A Riaw enfie § | Ra ° RraR w e
@ T SRATIS TR EER Tal fhy 2|
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9.

10.

11.

12

(c)

Explanation

Statements 1 and 3 are

correct.

(b)

Explanation

The Malabar exercise is a naval exercise
involving the United States, Japan, and
India as permanent partners, with Australia
rejoining in 2020.

It is associated with the QUAD nations.
The QUAD focuses on emerging and
critical technologies, including artificial
intelligence (Al), quantum computing, and
cybersecurity. Statement 2 is incorrect.

The QUAD does not have a formal
secretariat or headquarters. It is a strategic
forum without a formal structure like a
secretariat.

Statements 1 and 2 are

correct.

(b)

Explanation

(a)

Tiger reserves are notified by the state
governments on the advice of the NTCA, as
per the Wildlife (Protection) Act, 1972.

The core zones, also known as critical tiger
habitats, are intended to be "inviolate."
meaning they are kept free from human
habitation and activities like hunting
and collecting forest produce to maintain
a viable population of breeding tigers
Statement 3 is incorrect.

The NTCA was established under the
Wildlife (Protection) Act, 1972.

Statements 1 and 3 are
correct.

The Indian Ocean is connected to the
Pacific Ocean through the Indonesian seas,
which bring warm water into the Indian
Ocean. It is also connected to the Southern
Ocean, allowing the exchange of water
masses.

Vertical wind shear, which is the change
in wind speed and direction with altitude,
can disrupt the structure of a developing
cyclone by tilting and weakening its
convective clusters, thereby removing
energy from it.

Statement 2 is incorrect. The Bay of Bengal
is generally warmer than the Arabian
Sea, especially during the pre-monsoon
season, which supports the formation of
depressions and cyclonic activity.

Explanation : Statement 1 is correct.

One of the primary objectives of the Critical
Mineral Mission is to boost domestic
production by enhancing exploration and
mining activities within India.

9. (¢)

AT : S 1 AN 3 & T |

10. (b)

AAER R T S 3 & R dge
RTSY IHR®T, ST 3R 9Rd eIrfl wifleR 8, s
aireeferar 2020 & b | wnfyer &1 AT B

B TS Tl I I 3T & | gars P gigach
(TaTTg), TFTCH DRI AR AR JR&l Afgd IARAT
3R AgagUl Wrenfifeal R &M afed wear ¥
DUT 2 Teld B |

FITS BT Dls AUARG AlAIAd AT GLATAI T8I
2| I8 Afudrery SN fuaRe e & 391 &
oHf® w9 R

ARAT : ST 1 AN 2 & T |

11. (b)

JISIg (FRETVT) AR, 1972 S FTAR, AT
P FAE W I WRERI gRT a1 AR BT
rftrgfara e <mar 2

PR S, NI Aecaqul a9 3f7ard & W H A1 51
ST &, B TSAT @ BT RIS 2 | 39S Aderd &
5 = AM9 I @ik RaR &R a9 Ul T
FR ST Tfafaftrll | qoh A ST § A1 gore
PR ATl qrEl DI FIRT AT DI g91¢ g1 ST
D | HAT 3 AT ¢ |

UACIIY @1 AT g=oild (AReo) Iffef=ras, 1972
@ Ted @ 79 AT

AT : S 1 AN 3 & T |

12. (a)

8 WENIR SSFRME Wl & ARIE ¥ ued
HERITR ¥ ST g7 2, Off g HSTNR ¥ T Uil
AT | I8 Sferfl HeTrR | 0 T 8o 7, R
UM & S BT ATEF—YaH 8l 2 |

SHYARR Uqd HaRAl, S $Hals d AS g B
Tfar iR fem & uRads &, e fAerafia award
B AREAT DI SHD Sl AYEl Dl FHIPR AR
HHAGIR B 1T B Fhall 7, T S5 | Soll
et STl 2

PHAT 2 TeId | Tl BT W MH dR W 3Rd
AR F IS TH Bl 8, WrAdx W—AGT Ao
P TRM, S MEdTGl iR Fharl TfAfAfy & Ted
BT AT PR B |

TRAT : HAT 1 GaI 2 |

fopfeda firRe e &1 T waIfie Se IRd &
AR 39T iR W9 Al &1 derax =xe
I Bl gGET <7 B |
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13. (a)

Explanation

14.

15.

This initiative aims to reduce import
dependency and ensure a stable supply of
critical minerals for various industries.
Statement 2 is incorrect. While the Critical
Mineral Mission does aim to secure
international supplies through long-term
contracts, the focus has been primarily
on resource-rich countries, especially in
Africa, rather than South-East Asia.

The mission involves engaging with
mineral-rich countries to secure a stable
supply of critical minerals.

Statements 1 and 2 are

correct.

(d)

Explanation

The Loss and Damage Fund is designed
to provide financial support for both
immediate disaster response and long-term
resilience building to address the impacts
of climate change.

The LDF is intended to help developing
countries compensate for losses and damages
resulting from climate change, which includes
both past and ongoing impacts.

Statements 3 and 4 are incorect. While
innovative sources of financing, such as
taves on fossil fuels and other mechanisms,
have been discussed carbon credits from
the global carbon market are not proposed
source of financing for the LDF.

The World Bank is serving as the interim
trustee for the Loss and Damage Fund.

Statements 1 and 2 are

incorrect.

(b)

Under the NFSA Antyodaya Anna Yojana
(AAY) households, which are considered
the "poorest of the poor, receive 35 kg of
food grains per family per month.

In contrast, Priority Households (PHH) receive
5 kg of food grains per person per month.

The state-wise coverage of beneficiaries
under the NFSA was initially determined by
the erstwhile Planning Commission, which
has now been replaced by NITI Aayog
However, the responibility for identifying
eligible households within this coverage is
primarily with the state governments and
Union Territories, not NITI Aayog.

Explanation : Statement 1 is incorrect.

The India Singapore Ministerial Roundtable
OSMRI serves as a platform for high-level
dialogue between the two countries.

13. (a)

39 U Bl ST AT AHRAT BT HH HRAT 3R
fafe=1 SeIl @ fory Agc@yet @fisll @ Rer smgfd
e &= 2 |

PIT 2 Tad 2| fhferd fARa oM &1 SEw
JRIAT PRAT B, olfb $HDI G &M SROT—gd
URRT & 99 FarF 9= <9, faoy s9 9
JMBIBT TR ET B |

9 e H Aeayol @il @1 Rer syl &
JRieT R & forg @iveT wqg <2 & A1 o1
oMmAet 2|

AT : S 1 AN 2 & T |

14. (d)

BN 3R &fd M @1 Sefarg uRads & gvral
P AT B D fory dehra smuer ufdafear
IR Crepifersd it fFatr 91 & forg faxf
TERIT Y| &R+ & forg feoig fhar T g1
UASIUH HT Ieed [Jbraeld Qi Bl Sy
aRaeT I B dTel JHAT AR &l B 9RUTS BRe
# Aeg BT 8, O fusel @R ga1 % g uwia
omfiet 2|

BT 3 3R 4 TAd ¢ | foaamer & ifi=a |rdl,
SR Sftared e 3R 3T JA R =El @Y TS R,
dRTH B INIR W BET Hfec TASUH & forg
oo &1 yRarfad wid w2

favg §o =1fy &R afd A & o ofaRe o= &
9§ B B IET § |

AT : BT 1 3N 2 Teld © |

15. (b)

UAUHTHY fRATEH 31 Il (YUaTs) & dgd, o
gRIRT BT FIY TRE FET ST 8, S= Ui @18
gfer gRarR 35 fohetrum e fAerar 2|

e fAwRd, wAfedr arel gRaIRT (f1eeea) &
ufar s 9fa w18 5 fharum™ @ren— fear 21
TIUBUHAY & d8d Il BT ISYAR herel Yo
H Teblells Ao MANT gRT fReiRa fasar T e,
R ara AIfa M gRT 95 et far wan 2 | wreife,
T Havel & WIaR UTH URART &1 U™ HR @
el 9% ®U ¥ 9g WRPRI AR dg AR
gyeul @ g, 9 fb A smanT @

AT : BT 1 Told 2 |

AR RITTYR AERARIY el ATTHATHARRATS Il
<R & drE Ied WRIG Al & folg U 79 & Wy
# BRf HRAT B |
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16

17.

e It focuses on enhancing economic ctioperation
and identifying new areas for collaboration
across various lectors, including digitalization,
energy, skills development.

e It aims to review the progress in bilateral
collaboration and explore new opportunities
to further elevate and broaden the strategic
partnership between India and Singapore.

e Statement 2 is correct. The India Ready
Talent Programme is an initiative launched
by Enterprise Singapore EnterpriseSG) in
collaboration with the Confederation of
Indian Industry ICID with support from
the Ministry of Trade and Industry (MTI) of
Singapore The programme aims to prepare
young Singaporean talent to tap into the
growing business opportunities in India.

e The prime mirester met with interns from
both countries Singapore students who did
internships through the India Ready Talent
Programme and pupils from Odisha who
are working in Singapore companies.

- (d)

Explanation : Statements 1 and 3 are

correct.

e Brunei is one of the leading suppliers of
LNG, primarily supplying to customers in
the Asian region. India has increased its
imports of Russian oil, which has affected
its oil trade with Brunei.

e Statement 2 is incorrect. While the United
States does engage in trade with Brunei,
China is Brunei's largest trading partner
and foreign investor.

(b)

Explanations : Statements 1 and 2 are

correct.

e The Public Accounts Commiittee is a parliamentary
committee that consists of 22 members.

e Specifically, 15 members are elected from the
Lok Sabha, which is the lower house of India's
Parliament, and 7 members are elected from
the Rajya Sabha, the upper house.

e The PAC is tasked with examining the
accounts and financial statements of the
government, which includes reviewing
the performance of regulatory bodies
established by Acts of Parliament.

e This involves scrutinizing how these bodies
utilize public funds and whether they
adhere to the financial regulations and
objectives set by the government.

e Statement 3 is incorrect. Ministers are not
allowed to be members of the PAC.

e This rule is in place to maintain the
committee's independence and impartiality,
ensuring that it can effectively scrutinize
government expenditure without conflicts of
interest arising from having members who
are part of the executive branch.

16. (d)

g e W8I B g IR fSRicarsoem,
Soll, e faer aftd faf= &= & d=amT &
qY & B UEAH B R Diod B |

SHGT S fguefi e ® Wi ol e deen
IR MRA iR IR & d= o AEeR) @
3R g™ R ATUH g9 & U FT Srava=l &l g
ST B |

AT 2 WEl 2| sfear I Sofe WU VexuTso]
R (TexuTgsTodsll) gRT wRA SerT uRkew
% FEAr 4 RIR & @R iR SR AT
(TASIRIS) & Rl & P& @1 TS Udh U ¢ |
FTAHH HT Ieed JaT RGR @1 afoemaii o1 9Ra
H 9ed AR & aRI BT o SoM @& forv IR
BHRAT B |

AT : B 1 N 3 GE 2 |

17. (b)

g% UAUoll & W smgfdadiel # ¥ Ud 7, S
T’ WU W URATE &8 & UTED! BT AYT B 3 |
IRA 1wl I @ 370 AT # gfg @l 2, R
gz d W B I AR BT g1 b 2|
DA 2 AT &1 TdfB AYh A IFRBI gis
@ WY AUR § AT &, 99 gis B F9d FT
MRS AEER AR faee fraes & |

AT : ST 1 AN 2 & T |

dArE ofE AfRfy te wadm affa ® R 22
e B § |

fRy wu 9, 15 9 AHEH § g G 8, Sl
ART & G @I e Ied 8, 3R 7 I
ISIFHT, 3o a9 9 o Ol 2 |

gRT werfdd e el @& uee @ e
e 21

TR 39 91 B S HRAT AR § R A e
JrdSIfe g9 BT SYART dA A & AR /T 9
WHR gRT fAuiRa o el ok Sewal &1
Tl R 2 |

BT 3 TeId ® | HEAT BT GO BT AT B B
rgAfa T8l B

g fem afafa @ wad=ar iR e a9 e
% forg &, ¥' YARAT F=ar & b I8 FRISENT o
BT T B9 dTet Wl ® 89 | S 819 dTed
fRal & chvd & 9T RGN I & g9 $9 A
Nickas:cd
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18. (b)

19.

20.

Explanation :

(b)

Statement-I : According to the ILO report,
the global labour income share has
declined over the past two decades.
Statement-II : is correct. According to the
recent data and report by the ILO, 21.7%
of youth between 15 and 24 years were
neither in education, employment, nor
training (NEET). As per the reports, a fifth
of young people were not in employment,
education or training (NEET) in 2023.
Statement-III is correct. Businesses globally
are increasingly implementing automation
technologies and artificial intelligence (Al)
systems, which is contributing to changes
in labour dynamics.

However, only Statement-IlI  explains
Statement-I The decline in labour income
is largely attributed to technological
advancements and automation, including Al,
which increase productivity but can reduce
the share of income going to workers.

Explanation :

(a)

India generates highest plastic pollution
in world according to a new study by
University of Leeds.

India contributes to a fifth of global plastic
pollution.

There is a notable Global North and Global
South divide when it comes to plastic pollution.
On an absolute basis, plastic waste
emissions are highest across South Asia,
South-East Asia and Sub-Saharan Africa.

Explanation : Statement 1 is correct.

The Smart Cities. Mission uses a two-stage
competitive process called the "Smart Cities
Challenge to select cities.

In the first stage, states and Union
Territories shortlist potential cities based
on specific criteria.

In the second stage, these shortlisted cities
compete by preparing proposals, and the
best proposals are selected for funding and
development.

Statement 2 is incorrect. Area-Based
Development (ABD) under the Smart Cities
Mission focuses on transforming existing urban
areas within city limits through retrofitting,
redevelopment, and greenfield development.

The goal is to improve infrastructure and
services in these areas, making them more
liveable and sustainable.

18. (b)

g -

19. (b)

P11 : B RUE & 4R, Uod a1 <l 4
Mg 5™ My TR # fivrae o8 7|
HUF-11: Wl 8 | ILO & giferar sl 3k Rl &
FTAR, 15 W 24 99 & 41 B 21.7% a1 = ar e,
IR, 3R 9 & ulRerr (NEET) # o | Ruel &
AR, 2023 ¥ YTl PT Uredl fEwdT ISR, Ry
a7 wfderor (NEET) ® &1 o |

FAA-I11 : ¥ 2| IMNad R W FIqE don |
TrETerd UrenfTdal iR HEH gigan (AI) wonferar
BN AT, R @ &, o s frefiear # agena #
ANTEH < V& 2 |

BTalifh, dadt BT HAT—1 B TRAT HAT |

AT -
o IJFERICT 3iTh <fied & Us Y 3Tdd & 4R,

20. (a)

IRA g1 # wa9 SETeT WiiRed qguor UeT R
gl

aR¥ad Red TguoT § YRT 6T AFTSH dradl 2 |
WIRTH U B 91 dY df dRgd IR SR
IRae <fEror # Seera e B |

FRUST SER W, wRcd SURie Icquid afer
olrn, fero—qd uRmm ok Su—wERT mhier #
| ST 2 |

HRAT : HAT 1 W8I 2 |

e RS e 9eRl &1 99d dRA @ forw e
RIS defor e S1—aRvr &1 ufaaedt ufhar @
SUANT BT ¢ |

Jgel TRV H, T MR dg wRid uewr fafdre
AMGSl & MR WX AIFAT IE”l dI AefoRe o
2 |

T W1 H, Y icfore fHy 17 =R 9d[d TR
R gfoRael axd 2, IR e Ity ATl Bl
BT AR fderd & forg g=m Sirar 2 |

FHUF 2 TAd gl W REw fem & ded
gF—TeRd fddr (ABD) YgIfthfeT, gafder aik
MAwlce B & Aead A ER &I AT & WidR
AT ¥R &5 BT e R Disd ¢ |

ded 3 el W gihErdl e SR [aRil § gurR
FHAT 2, o 9% oiffa 8w arg ik fears
AR ST D |
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21.

22,

23.

24,

(c)

Explanation

Statements 1 and 2 are

correct.

(a)

Great Nicobar is part of the Sundaland
global biodiversity hotspot, known for its
rich biodiversity, including unique and
endemic species.

It is home to indigenous communities such
as the Shompen and Nicobarese tribes.
Additionally, the region is located in a
high-risk seismic zone, making it prone to
earthquakes and other seismic activities.
ANIIDCO is a public sector corporation
established to promote the integrated
development of the Andaman and Nicobar
Islands.

It is involved in various activities, including
infrastructure development, tourism
promotion, and trade management.

Explanation :

(c)

New Guinea is the world's second-largest
island, with an area of 785,753 km?.
It is located in Melanesia in
southwestern Pacific Ocean.

Java is the world's most populous island.
New Guinea island is politically shared by
Papua New Guinea and Indonesia.

Borneo island is politically shared by
Malaysia, Indonesia and Brunei.

the

Explanation :

(a)

RBI maintains India's Foreign Exchange
(Forex) Reserves

It has 4 components

Foreign Currency Assets — expressed in
dollar term.

Gold

Special Drawing Rights (SDRs) - basket of
five currencies— Us dollar, Euro, Chinese,
Japanese yen, and British pound sterling.
India’s forex reserves touched all time high
of $683.9 billion for the week ended August
30, 2024.

Explanation :

Agni-IV is an intermediate range surface-
to- surface ballistic missile.

It is a nuclear-capable missile with a strike
range of 4,000 km.

It is a two-stage solid propellant missile.

21. (¢)

ARAT : ST 1 AN 2 & T |

Ue PR Jelels df¥qed Sig fafdedr giewie &1
e 8, S 3ol g o fafderar & fog e
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gl

Jg UAE IR e Senfadil o waaEh
FHSRT &l R T
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& forg yaor 2 |

ANIIDCO U& HEui+e &5 &1 9 8 e
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22. (a)
ATEAT :
o g 0 T @1 SEw |ew 9% g9 ', R
&ael 785,753 I fhHl 2 |
o B SEO—UREHl uend HeErR A HAREr H
Rera 2|
o TTET SR B Ae SIS SETe) arel g9 7 |
o g T gIU IoEfae wY W ourgen =g R SiR
g gRT ATeM fHa S 7 |
o QI EIU OIS WU A HARR, SRR 3R
g8 g1 WIS BT e 2 |
23. (c)
[TEAT -
+ RBI 9Rd & fa<=l qaT (BREwE) WSR HI 91Y
G B
« OB 4 UTH T
o faS=N go1 uREuRRT — Sfer # @k &1 SR © |
o M
o R e FRGR (CHSIRIR) — dfg gamei &
TIH — JMRDT SfeR, JRI, IHI, SAHT A9 IR
fafeer uss wefel |
* 30 I, 2024 Pl AR AWE & oY 9Rd &
fael g1 WeR 7 +683.9 fAferaw & wdaiferd S
TR BT Gl |
24. (a)
[TEAT -

JRA-IV U #e99 X & T8 9 WA W AR B
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I8 VP AW Fgd © RNEd! ARe e
4,000 fHT B

IE T TR qTell S Uuiled fAasd ©
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25.

26.

27.

28.

29.

30.

(a)

Explanation : Statements 1 and 2 are correct :

e A higher government debt can lead to a
higher fiscal deficit.

* Increasing the tax can help in lowering the
fiscal deficit.

¢ Increasing public spending will lead to a
rise in the fiscal deficit as iincreasing public
spending without a corresponding increase in
revenue will lead to a rise in the fiscal deficit.

(c)

Explanation : The role of the 16th Finance
Commission should be to eliminate relations.
vertical fiscal imbalance in federal relations.

e It refers to the disparity between the
revenue raising capabilities and expenditure
responsibilities  of  different levels  of
government within a federal system.

e Specifically, it occurs when the revenue
generated by a lower level of government
(such as state or provincial governments) is
insufficient to meet its expenditure needs,
leading to a dependency on transfers from
a higher level of government (such as the
central or federal government).

e The table highlights the estimation of VFI
from 2015-16 to 2022-23

(d)

Explain : The European Union (EU) approach to
international security and crisis management.

(b)

Explain : All India Institute of Medical Sciences

(b)
Explain : The President of India

(c)

Explain : Jal Sanchay Jan Bhagidari

Jal Sanchay Jan Bhagidari was launched by

the Shri Narendra Modi at Gujarat recently.

e Jal Sanchay Jan Bhagidari is an initiative
that aims to construct approximately
24,800 rainwater harvesting structures
across Gujarat.

¢ The initiative led by the Ministry of Jal Shakti, in
collaboration with the State Government.

¢ The rainwater harvesting structures across
the State are being constructed with
community partnership.

¢ These recharge structures will be instrumental
in enhancing rainwater harvesting and ensuring
long-term water sustainability.

e The initiative aligns with the ongoing Jal
Shakti Abhiyan: Catch the Rain campaign,
reinforcing Mr Modi's vision of collaborative
water management to ensure long-term
water security.

ag

25.

26.

27.

28.

29.

30.

(a)

AT : HAUF 1 IR 2 I8 & -
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o TR I I IR °C BT BH B H A e
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(c)
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(d)
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(b)
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(b)
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(c)
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